
Attention Light AL5000 
(D458) 

 



 

 
 

  1.Attention Light (D458) ..........................................   2 

Parts Index ...............................................................   6 

Attention Light AL5000 (D458) 
 

PARTS CATALOG 
 

This catalog gives the numbers and names of parts on this machine. 

 

CONTENTS 

July 28, 2009 



2 

 

1.Attention Light (D458) 

A

A

1

104 101

3

102
102

6

103

103

5

2

4

7
101

9

101

8

 



3 

 1 D458 1020  LED Display:Three Way:RBG 1 

 2 G810 1211  LED Stand Front Cover 1 

 3 G810 1220  LED Stand Rear Cover 1 

 4 G810 1231  Label:Switch:OCL 1 

 5 G840 5261  PCB:SWB:LED:Ass'y 1 

 6 G840 6897  Base:LED:Stand:AL 1 

 7 G840 5260  PCB:SWB:Machine Or Copier:Ass'y 1 

 8 D458 5408  Cable:SWB 1 

 9 D458 5409  Harness:SWB 1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 101 0360 4008N Screw - M4x8  

 102 0360 4014N Screw - M4x14  

 103 0450 3008N Tapping Screw - M3x8  

 104 0454 4008Q Tapping Screw - M4x8  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Description 
Q’ty Per 
Assembly 

Part No. 
Index 
No. 

Description 
Q’ty Per 
Assembly 

Part No. 
Index 
No. 

1.Attention Light (D458) 



 

 

Parts Index 



6 

D458 1020  LED Display:Three Way:RBG   3 -   1 

D458 5408  Cable:SWB   3 -   8 

D458 5409  Harness:SWB   3 -   9 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

G810 1211  LED Stand Front Cover   3 -   2 

G810 1220  LED Stand Rear Cover   3 -   3 

G810 1231  Label:Switch:OCL   3 -   4 

G840 5260  PCB:SWB:Machine Or Copier:Ass'y   3 -   7 

G840 5261  PCB:SWB:LED:Ass'y   3 -   5 

G840 6897  Base:LED:Stand:AL   3 -   6 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Parts Index 

Description 
Page and 
Index No. 

Part No. Description 
Page and 
Index No. 

Part No. 



7 

0360 4008N Screw - M4x8   3 - 101 

0360 4014N Screw - M4x14   3 - 102 

0450 3008N Tapping Screw - M3x8   3 - 103 

0454 4008Q Tapping Screw - M4x8   3 - 104 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Description 
Page and 
Index No. 

Part No. Description 
Page and 
Index No. 

Part No. 


	1.Attention Light (D458) 
	Parts Index 

